Review 1:
I. Solve the following equations and inequalities.  (graph the answer on a number line)
1.) [image: image2.png]4x —7(x +5) = 6x



 

2.) [image: image4.png]




3.)   [image: image6.png]



4.) [image: image8.png]5—2x=x+6






5.) [image: image10.png]9-x=2(5+x)





6.)[image: image12.png]4>2x—8




II. Slope:  Find the slope of the line that goes through the following points.

7.)  (3,4) and (4,6)


8.)(-5,3) and (4,2)

9.) (-3,-3) and (-2,1)

III.  For the following equations of lines determine the slope, the y intercept and the x intercept.

10.) [image: image14.png]y=-2x+7






11.) [image: image16.png]4x —2y+8=0





12.) [image: image18.png]—x—y =4




IV.  Write the equation of the line that meets the following conditions.

13.) Goes through the points  (3,4) and (4,6)

14.) Has a y intercept of 4 and is parallel to the line [image: image20.png]y=3x+2




15.) Is perpendicular to the line [image: image22.png]4x — 2y = —8



 and goes through the point (-1,7)

16.) A vertical line that goes through the point (-8,-5)

17.) A horizontal line that goes through the point (2,6)

